1. study .
2. reading |dea
ﬂ ; 3. review
— |
AM10:30 '/ |
meeting ' anniversary

@lee Glass

— o A



.!N\! STATE ddIcd fagATIT 2026 FETT -6 New HEHAdT Batch Start

GTH/OT

o%u——a’q%r (Q.l ) Theﬁalles@fye-dglt number using

A 5,0,3,7and 4 is?
ETT Sy 5,0,3,7 3T 4 FT 39AT & 94
s S mﬁ@’m@mw%’?

i A) 03457

° (3‘?‘)_‘3‘? S0 B ((B; 34570

Ao HT) H @ ys T (C) 30547
34>

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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07 (Q3) e e Ffeweas Ao (qof

25 HEATH) ¢

Z 57 & (Thelnearest] result (in whole numbers) of the
39 9% 29 following expression is)-
% = x& 388 x 103 - 61x2§6 4.1x15.1
SO GRS G o
EAN V€30 L9 -179-60 (2) 3749

31S=— (4) 3759

IHOF FIEHF F AT 37 daX 7602310280 9T TFIFH FY
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17— 1 qRHAT TG ©-
g @3
')WL (The decimal equivalent of 171/16 is)

/% |94 (NVS 2013)
Y a2 B IS (1) 17.0525

0 70625 \_{2]17.0625

- X2 1.069s” (3) 17.6025

(4) 17.625

IHOF FIEHF F T 37 daX 7602310280 9T IS Y




(3421x5375+6756x43x21+6751) &

T HD)e
(The wnits digitin the

(3421x5375+6756x43x21+6751) is-)

(1) 5

IXS+'(X3Xl+| 2) 0
5

&j;bg+~' (3) 3

I3 = d (4) 4

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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(Which of the following are@
equivalent?)

f\a g/——\‘”“‘
(AT *—&(B\f )

f
(C) —@2—4(0)\— Frzrr‘gj
T3 X3y

I8+ FIFRI F AT 39 JaT 7602310280 9T IS HY




Q.6 UH T #1680 T & a=er W

I 120 ¥ &7 |
T Wy & e T
et H ﬂﬂFIT qMgC? (By selling a radio for Rs

680, a shgpkeeper : a loss of Rs 120. For
how much_should the radio be §oldto make a
(55 = fa.g 45 profit of Rs 1207?)
QR4 RO = u

NS Koo (JNV 2010)
(a) 720 ¥9T

P4
St = Roo + 180 (b) 800 FYT
\d] 920 $YT

IHOF FIEHF F T 37 daX 7602310280 9T IS Y




STaTE] dAdIed fagATad 2026 FHETT -6 New HHdT Batch Start

7 If each side of a square is reduced to
4> One-Fodrth of its original length, what will be
Squoeve the new perimeter of the square?

afg frdt aet #ir HSIT &1 3T AT

JdE ¥ UF 9lUE 1 ST, ar gar
‘gga\_-_-q'ﬁ'm Qimmnﬁmtrwg’mr?

anst = Ay (A) Half (31Tem)
g@/‘ g §3\§'\‘\ /\T{)One-Fourth (Teh EI’MF‘?;)

cT <yl (C) Same (HHT)
(D) One third (W& fAETS)

IHOF FIEHF F T 37 daX 7602310280 9T IS Y




(Q8)  Which of the following pair of
angles isﬁh
frfaf@a & & Fon aa'r Sid-AT JIA
SR @%’?
‘_Q—————\“ :’leg . 132 .

67°,113°)

1. (€)89°,81°

€7 o o
T (D)

HO®F SEFR & AT 3@ 74T 7602310280 WX HUF FY




v e o
Raju (7D &&&&&&&7*?— >§

Suresh@w) | &&&
Rakesh @57 | Oy dh &b & &

Mohan (H12 @h
1’ Hddd Yxack
(A)9kg 22kg (C)11kg (D) 16 ng

IHF FEFN F AT 37 F97 7602310280 T HIF FY
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Q.10 Wh_igh of the following numbers
is not @of 68>

wca&?mﬁﬁ?r##ma"rm@m
68 > 162 3 4| oS TR
/ 468 <A) 4
(G e
Lxgx!) '] X(C) 6

AW |
Q- D) 17

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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cLass

IHOF FIEHF F T 37 daX 7602310280 9T IS Y




